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Introduction

Are monopolies really a threat?  Is the Antitrust Division of the Department of Justice (DOJ) a Chicken Little, falsely proclaiming that the sky is falling? Worse yet, could it be that our economy needs monopoly power to fuel its necessary innovation?  Is the DOJ instead a dog biting the hand that feeds it? Joseph A. Schumpeter (1883-1950) would have answered “yes” to these questions.
 Schumpeter is right.
  Monopoly power is not problematic, but rather is necessary to fuel innovation in our economy.

Schumpeter’s support of monopoly power is based on three theories.  First, perfect competition is not only impossible to achieve but is less efficient than monopoly power.
  Second, monopoly profits are necessary to produce investment needed for continued innovation.
  Finally, “creative destruction,” a Darwinian natural selection process, will destroy monopolies that abuse their monopoly profits by failing to innovate.

Perhaps even more interesting is the fundamental idea behind Schumpeter’s theories: monopoly profits are a necessary incentive for human beings to create wealth in the capitalist economy.
  In other words, “greed is good.”
  This philosophy underlies Schumpeter’s theories, and its concept allows for a fuller understanding of why Schumpeter’s theory is right.  Ironically, Schumpeter argues that monopoly power will eventually yield so much wealth that the capitalist economy will give way to a socialist one.
  

This paper explains and defends Schumpeter’s theory on monopoly power and innovation.  Part I provides a background of traditional antitrust theory and Schumpeter’s theories.  Part II provides an analysis of the theories, explaining why Schumpeter is right.  

II.
Theoretical Background 
A.
Traditional, Non-Schumpeterian, Antitrust Theory



1.
Monopoly Defined


Traditional antitrust theory holds that monopolies are a bad thing.
  A monopoly is defined as a business entity that can profitably raise its prices by approximately 5%.
  In other words, the price can go up 5% and enough consumers will continue to buy the good that the company makes more money than prior to the price increase.  Alternatively, a firm that did not wield monopoly power loses money when a 5% price increase is initiated, as consumers buy from a competing firm, substitute another product, or simply not buy the good at all.  



2.
Monopoly Power Chart

A simple chart illustrates theoretical monopoly power:
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In this chart, “A” represents the demand curve, as the price decreases the amount of the good purchased goes up.  Point B represents the price of the good in a competitive market, the “marginal cost” (MC).  By contrast, C is the price of a firm exercising monopoly power; the price is higher and the firm sells less of the good.  As a result, the firm loses a particular portion of its income, E, the consumer surplus.  The consumer surplus reflects the individuals who choose not to purchase the good in response to the monopoly price.  However, the monopoly firm also gains income by charging the monopoly price.  The substitute income, D, is the monopoly overcharge.  As mentioned above, a firm has monopoly power if it can raise its price at least 5% from the competitive price (B), and maintain enough consumers, such that the monopoly overcharge (D), is larger than the consumer surplus (E).  The additional income (the difference between the monopoly overcharge (D) and the consumer surplus (E)) is referred to as monopoly “rents” or profits.  


Theoretically, the economy does not actually lose the consumer surplus  (E) or the monopoly overcharge (D) as those funds remain in the economy, i.e. consumers choose to spend their money elsewhere, and the monopoly firm disperses its profits or reinvests them.  The harm caused by monopoly power is, F, the “dead weight loss” (DWL).  Dead weight loss represents goods that are simply never made, and never enter into the economy.  Dead weight loss is not replaced, and the economy cycles less wealth overall as a result of the loss of those goods.  



3.
Implications: Government to Prevent Monopoly Power

Because of DWL, basic antitrust theory calls for the elimination of monopoly power.  Traditional theory does not suggest a reason that would prevent monopolies from exercising monopoly power indefinitely.  Therefore, the job of limiting monopoly power falls to the government.


B.
Schumpeterian Antitrust Theory 


Schumpeterian antitrust theory differs from traditional theory in three fundamental regards.
  First, Schumpeter challenges the perfect competition ideal. At the least, Schumpeter’s challenge calls into question the amount of the DWL; at the most, it eliminates DWL by placing the actual marginal cost above the monopoly cost. Second, Schumpeter justifies DWL by stipulating that monopoly rents provide the necessary investment for innovation.  Finally, Schumpeter’s concept of “creative destruction” means that monopolies that do not innovate cannot maintain their power indefinitely.  Therefore, innovative monopolies justify any DWL that may exist and ultimately produce greater wealth for economy, and monopolies that do not innovate will lose their power as a result of more nimble and innovative market entrants.    



1.
Rejects Perfect Competition Model


First, Schumpeter suggests that the model of perfect competition is a farce.
  According to Schumpeter, monopolies can perform more efficiently than firms involved in the cutthroat battle of perfect competition.  For example, monopolies are in a better position to accommodate cycles in demand, plan ahead, etc.  The greater efficiency of monopoly power ultimately leads to lower prices.  Schumpeter’s chart looks something like:
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The new point on the chart, G, is the actual cost level of “perfect” competition.  Firms that are forced to expend resources to merely maintain their existence in the market will produce fewer goods at higher prices.  The result in terms of the traditional analysis would be DWL relative to the monopoly price.

As an analogy, consider the Tom Hanks character in the recent movie Cast Away.  When fighting for his survival he accomplished the construction of a simple calendar and made friends with a volleyball. When unoccupied with his day to day survival, he shipped a package from Texas to Moscow overnight.  Obviously, a firm that can shift its attention away from daily survival activities, i.e. cracking open coconuts, will have the potential to create greater wealth for our economy.  Consider also the AT&T monopoly.  Unoccupied with their survival, which was guaranteed by a government supported monopoly, they were able to produce the innovations of wireless and fiber optic communications, just to name a few.

Schumpeter uses an illustration to demonstrate the practical limitations of perfect competition.  Given that a wheat farmer predicts the marginal cost of wheat based on its market value, she will produce the exact amount of wheat that she can profitably produce at that marginal cost.
  Unexpectedly, however, a drought damages the wheat crop, driving the price up.  In the following year, the market value of the wheat will be higher, thus reducing the marginal cost and leading the farmer to produce more wheat.  In the second year there is no drought and an outstanding crop results.  Now the market will have an abundance of wheat, which drives the prices down.  In the third year, with prices low, the marginal cost will be much higher, restricting the amount of wheat the farmer can profitably produce.  The chart would look like:
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Schumpeter’s wheat farmer example calls the perfect competition model into question, as it would essentially lead to economic instability (the wildly fluctuating market prices would make economic planning impossible).  Furthermore, the illustration casts uncertainty on the actual value of any DWL resulting from monopoly power in the traditional analysis, as the DWL will be larger or smaller depending on where the actual price ends up.  



2.
Justification of Dead Weight Loss

More important than his challenge to perfect competition, Schumpeter justifies any occurrence of DWL.  According to Schumpeter, the monopoly overcharge can be used to invest in innovations that result in greater overall levels of economic output.
  In other words, if the monopoly rents are invested at a return greater than the DWL, then the economy benefits from the monopoly power.  

For example, if the monopoly overcharge has a value of 4 units, consumer surplus 2 units and DWL 1 unit, traditional theory holds that 2 units of wealth were transferred (monopoly overcharge minus the consumer surplus) and 1 unit was lost from the economy.  However, if the firm takes the 2 units of wealth transfer and reinvests them in an innovation, resulting in the doubling of their value, the economy will gain an overall benefit of 1 unit (the 2 units of new wealth minus the 1 unit of DWL).  Such a scenario in a familiar diagram would look something like: (Note, the demand curve had to be manipulated somewhat from the original chart and the values are not exact, see footnote #1.)
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In addition, while Schumpeter does not address the issue, it could be argued that the consumer surplus may result in an overall benefit to the economy.  If the consumer chooses to spend the consumer surplus on another product, then there is no net loss or gain to the economy.  However, the consumer may also choose to do something beneficial for the economy or society with the consumer surplus.  For example, if the consumer surplus is used for investment, the capital available for innovation increases, raising the likelihood that the benefits of such innovation will outweigh any DWL.  In other words, if 1 unit of the consumer surplus is invested along with the 2 units of monopoly rents, the total of 3 units now requires only a 1/3 return on that investment to equal the 1 unit of DWL (vs. the 1/2 return on investment required of the 2 units of monopoly rents). 



3.
“Creative Destruction”


Schumpeter’s second departure from traditional antitrust theory is his concept of “creative destruction.”  Schumpeter states that the capitalist economy is by nature always in flux.  Because of this constant state of change a firm must innovate, to maintain its position.  If a firm obtains monopoly power but then remains stagnate, the economy will change and another firm(s) will step in and fulfill the new needs of the consumer.  As a result, the non-innovative monopoly will be destroyed.  The concept is very similar to Darwin’s process of natural selection; Schumpeter even uses such terms as “mutation” and “organic process.”

Schumpeter’s analysis is long-term.  While perfect competition theoretically maximizes the benefits in the present (a “Carpe Diem” economy theory), it will come up short in the long run (the Tortoise vs. Hare phenomenon).  Furthermore, Schumpeter states that price alone is not the sole factor for judging the economy.  For example, if the price remains the same but the quality of the product increases the economy is growing overall.  


Schumpeter’s theory is based on the idea that a capitalist economy is in a constant state of change, yet he is not explicit about stating a cause of the change.  However, the cause of such change is not difficult to determine.  The capitalist economy is in a constant state of change because consumers have a choice.  The economy changes to meet the changing needs of the consumer.  The consumers play God (to mix metaphors) in the capitalist economy, fulfilling the natural selection role by choosing which products properly survive.  

II.
Analysis 

A.
Why Schumpeter is Right


Schumpeter is right because history has proven him right.  Monopolies that have failed to innovate and bring new products to market have failed, i.e. Xerox and the personal computer.  Meanwhile, companies have been successful at overthrowing monopolies through innovations, i.e. Microsoft vs. Apple.  Also, some of the most profound innovations have come from monopoly powers, i.e. Bell Labs of AT&T.  

In addition, Schumpeter is right because reason dictates that he is right.  Humans are motivated by their ability to benefit from their actions.  Monopoly power provides humans with this basic motivation.  Furthermore, innovation requires resources, which monopoly power provides both directly and indirectly.  Therefore, an economy with monopoly power will have greater overall wealth.  Finally, the basic consumer choice that exists in the capitalist economy (natural monopolies excepted) gives consumers the creative destruction power to ensure that an abusive monopoly does not survive.   



1.
The History of Creative Destruction


Schumpeter’s creative destruction is proven by examining recent economic history.  For example, Xerox owned a monopoly in the business machines market as late as the mid 1970’s.
  However, despite Xerox’s development of the precursor to the personal computer, Xerox failed to bring that innovation to the market.  As a result, the capitalist economy destroyed Xerox’s monopoly.  Xerox now struggles to hold a substantial market share in the photocopy machine market, a machine that commonly carries the name of the company itself.


A lack of innovation leading to creative destruction is not confined to technology innovations, the same can be said of business models.  Apple computers held an early lead in the personal computer systems market.  However, Apple failed to innovate its business model from one of vertical integration.  Microsoft and Intel subsequently came along with a horizontal integration model, where each level of the system was provided by a separate firm, i.e. Intel processors and Microsoft operating systems.  Despite Apple’s early monopoly, and some argue superior product, Apple’s failure to innovate its business model to most efficiently provide the consumer with the product, led to the destruction of their monopoly.


The most notable monopoly power of today’s economy is Microsoft.  In contrast to Xerox and Apple, Microsoft has been innovative and has survived as a result.  Windows has improved almost every year since it was released.  Furthermore, Microsoft has invested large sums in several innovative endeavors, including WebTV and cable broadband services, both of which have the potential to result in continued growth for the economy.  Despite these innovations Microsoft faces daily challenges from Netscape’s browser, Sun Microsystem’s servers, and even Unix and Linux operating systems.  All three threats have been largely successful, often in spite of Microsoft’s best efforts to derail them.  If Microsoft does not keep up the innovative pace of any one of the three competitors, it could disappear as fast as it appeared.  The result of Microsoft’s monopoly has been a revolution in personal computing, bringing incredible growth to the economy.


The bottom line is this: monopolies that do not continue to innovate do and will die.  This fact is so profound that entire books have been written on the subject.  In The Innovator’s Dilemma, author Clayton Christensen states that even firms that do everything right can still be destroyed by upstarts with a superior innovation.
  Christensen recommends a subsidiary company structure to allow companies to develop innovations.  Ironically, this is a common antitrust remedy used by the government.  In other words, Schumpeter is right, the economy will naturally control monopoly power.

Michael Powell, Federal Communications Commissioner, argues that while Schumpeter was right all along about creative destruction, a problem existed with the time lines.
  According to Powell, the economy of the past would have put an end to non-innovative monopoly power eventually but not for about one hundred years.  Powell argues that despite any theoretical long-term gains, the economy was justified in not waiting the long term.  Thus, antitrust enforcement came about to put a premature but inevitable end to monopoly power.  In contrast, Powell argues that today’s high technology economy greatly accelerates the time lines.  Now a non-innovative monopoly can expect to be destroyed in a time frame of twenty years.  Therefore, while Schumpeter was unacceptably right before, he is acceptably right now.

Powell’s time line distinction, is moot and/or wrong.  First, if correct then regardless of Schumpeter’s applicability in the past, his theories are on the mark now and should form the basis of antitrust theory and enforcement.  Second, Powell’s argument makes the assumption that government intervention in the economy can take place without causing substantial long-term damage.  As with the environment it is often difficult or impossible to truly gauge the implications of short-term benefits.  For example, while bulldozing the wetlands to build condos may provide immediate benefit, the long-term unforeseeable results could be an overall harm.  In a similar manner, years of antitrust enforcement have changed the landscape of our economy. However, if Schumpeter is right, the market suffers long term as a result.  Furthermore, the government institution of antitrust enforcement will not simply disappear overnight, as Powell’s argument would dictate, causing further damage to the economy. 



2.
The Reasoning of Monopoly Power = Resources to Innovate


Schumpeter is also right with regard to his concept of monopoly power providing the necessary resources for a firm to innovate.  Schumpeter’s basic theory, that monopolies can use their monopoly rents to fund research and design departments, is fairly simple.  Common sense dictates that innovation requires resources from somewhere, and monopoly profits are surely a potential source.  But, what about debt financing or equity investments as a means of capital to fund innovations?  After all, just recently junk bond financing has led to outstanding innovations in our economy.  However, Schumpeter’s theory holds that monopoly power provides for economic stability and investor confidence at a fundamental level, which makes debt financing or equity investments possible.

All investment requires a certain amount of confidence that the chance for some return exists (even high-risk investments require some confidence that the possibility of a payoff exists).  The requirement holds true for personal investment as well as for equity investment.  For example, in order for a computer programmer to sit in front of a screen for thousands of hours she must know that if she comes up with a useful innovation she will reap the rewards.  In addition, in order for the venture capitalist to fund the computer programmer’s thousands of hours in front of a screen he must know that he will earn a return on his investment (even if that return is merely the possibility of a payoff).  Such confidence comes from property rights concepts as well as from a stable economy.  Monopoly power provides both.  

As illustrated above, a market with monopoly power will be more stable as the fluctuations of perfect competition will be avoided.  Furthermore, legal concepts such as patent rights, intellectual property rights, long term contracts, non-compete contracts, etc. are simply justified and allowed forms of monopoly power.
  Such monopoly power differs only somewhat from the same monopoly power criticized by traditional antitrust theory.
  No rational distinction can be made between the concept of a patent and a “monopoly.”  A patent is simply a monopoly on a particular product.  That patents are allowed but monopolies are not is a contradiction in traditional antitrust theory. The line between the two is arbitrary and leads to economic uncertainty and waste.    For example, the recent Microsoft case has consumed enormous resources and will end without a satisfactory result.  Furthermore, the “browser war” which led to the case is now largely meaningless.  The economy would have corrected Microsoft by itself.  Therefore, with the controlling power of “creative destruction,” no irrational distinction between patent and monopoly needs to be made.  

At this point, the term “monopoly power” clearly has two connotations.  First, monopoly power is used in the actual sense, to describe a firm that can raise prices 5% profitably (see Sec. II. A (1)).  Second, monopoly power is used in the potential sense.  Monopoly power in the potential sense is nothing more than an intellectual property right. 


As an analogy of monopoly power in the potential sense consider the television game show “Survivor.”  The tribal council voting system for contestant removal is largely arbitrary, producing a winner, Richard, who would not have likely survived on his merit.  Given an arbitrary system, a $1,000 investment on any one of the contestants being the last survivor, even with a pay off of $2,000 does not make much sense.  However, if the show were one of true survival, individual effort and ability would pay off (the contestants would have potential monopoly power).  An investor could research each contestant and choose the one they felt would last the longest.  The investment can be made with some confidence and is more likely to occur.  Therefore, Survivor illustrates two problems with a system with no potential monopoly power.  First, an inefficient result is produced, and second, outsiders will be unwilling to invest in the system.  


Monopoly power produces the resources necessary for innovation in the capitalist economy in two ways: directly, from monopoly rents to the monopoly firm, and indirectly, from the monopoly power necessary to promote investment in non-monopoly firms.  Without monopoly power the economy will be unable to produce the resources necessary for innovation and the result will be inefficiency and less wealth overall.  

B.
Counterargument



1.
Network Economies


The nature of network economies is somewhat problematic for Schumpeter’s theories.  Schumpeter’s concept of “creative destruction” requires that consumers have some choice between competing products.  However, network externalities and effects such as “lock in” mean that consumers may not have the freedom of choice required for the “creative destruction” process to operate efficiently.  For example, Microsoft Word is so prevalent that it would be difficult for a consumer to choose a competing word processing program.  First, the consumer likely already knows how to use Word.  A competing program must overcome the cost of learning to use the new program.  Second, almost everyone uses Word.  If the consumer wants to have compatibility, she must also use Word.  Finally, Microsoft’s economies of scale may allow them to produce their program cheaper than an alternative.  Therefore, instead of deciding between two equally situated word processing programs, Word has built in value that could result in its dominance even if a competitive program was otherwise superior.  


A couple of responses are possible.  First, unless the situation is one of a true “natural monopoly,” then consumers arguably have a choice.  That choice may be to wait for a competitive network to exist.  If Microsoft does not keep up with its innovation, a competing word processing program will eventually overcome the incumbent advantage of Word.  The same incumbent advantage dynamic exists in biological evolution.  A single advantageous mutation must be able to overcome the network externalities of an existing population. However, if that mutation can fill a certain niche or provides a dramatic enough improvement over the existing entity, then eventually the innovation will prevail.  In the meantime, the stability of the system serves a purpose as well.  For example, if everyone changed word processing programs every time a new program was developed with even just one improvement, the constant change would have a negative impact on the economy.  


Second, the concept of interconnection or a gateway technology may allow consumers a choice even in a network economy.  Interconnection refers to allowing other entities to tap into the existing network, such that the network externalities are shared between the providers.  Once the network externalities are no longer a competitive factor the two entities can compete equally on their merits.  Interconnection could come about through a government intervention, sort of a nudge to the evolutionary process, or as a result of an innovation.  A gateway technology is an innovation that creates the interconnection dynamic and results in the same reduction of network effects as a competitive advantage.

For example, in the beginning of widespread delivery of electricity to the home, direct current (DC) as a technology had a distinct early lead.  However, alternating current (AC) enjoyed several technical advantages over DC.  Network effects played a huge role in the market development as the choice between DC and AC dictated which appliances and lighting would become prevalent.  Despite DC’s early monopoly power the invention of a power adapter, a gateway technology, allowed the two technologies to compete and AC eventually won on its merits.
   

In another example, Borland designed a spreadsheet program with Lotus spreadsheet file compatibility and a similar user interface.  However, the Borland program was fundamentally superior.  The gateway technology, the ability to program a similar interface with a different fundamental program, nullified the network effects and the two products could compete on their merits.

Therefore, Schumpeter’s theories withstand concerns over network economics.  The one distinction that must be made is that of a true natural monopoly.  In the event of a natural monopoly no competition can exist.  As a result, no “creative destruction” pressures can exist and the presence of monopoly power in that market is clearly problematic.  The monopoly would have no incentive to innovate and could continue to grow indefinitely as an economic cancer.  

Conclusion
Joseph A. Schumpeter believed that monopolies were necessary to provide the resources for the innovation critical to the capitalist economy.  He also believed that natural selection pressures would keep those monopolies in check, forcing them to use their resources to innovate resulting in greater overall wealth.  Schumpeter was right.  Without monopoly power the confidence necessary for the investment in innovations does not exist.  Investors will be unwilling to contribute towards an arbitrary end.  Furthermore, history proves that unresponsive monopolies will be destroyed. 

The implications of Schumpeter’s theories are somewhat dramatic.  For example, antitrust enforcement can be reduced to the regulation of natural monopolies.  However, the result in other areas will be a rise in investor confidence and a wave of mergers, both of which will provide the necessary resources for continued innovations in our economy.  The wealth, which will result, will accelerate our development towards a socialist utopia.  
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